
Answers for Lesson 2-6, pp. 96-97   Exercises 

 
 

1. 16 

4.  5 

2. 12 

5. 19 

3. 14 

6.  6 

7.  5 8.  4 9.  100 

10.  –6 11.  7 12.  –5 

13.  –15       14. –10 15.  –9 

16.  5 17.  23 18.  6 

19.  36 h 20.  9 months 21.  42 

22.  24 23.  105 24.  –120 

25.  –16 26.  –12 27.  40 

28.  20 29.  13 30.  –5 

31.  42 32.  –52 33.  300 

34.  9 35.  5 36.  162 

37.  Dividing by 0 would result in 4 = 5, which is not a 
 true statement. 

38.  yes; = 1 

39.  no; ≠−6 

40.  no; 3(–3) ≠9 

41.  –20y = 100; –5 42.  = 100; 1,000 

43.  7k = –168; –24 44.  C 

45.  14 = 4.7s; 3 million students 

46.  You do something to each side of the equation. 
 You divide by 3 in the first equation; you subtract 
 3 in the second. 

 

 

 



Answers for Lesson 2-6, pp. 96-97   Exercises (cont.) 

 

47.  Answers may vary. Sample: Jessie buys 5 games 
 for $45. How much is each game? 

 

48.  –100 49.  –15,000 50.  382,300 

51.  7, –7 52.  3, –3 53.  6, –6 

54.  b + a 55.  b – a 56.  a ≠ 0 

 

 


